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QUESTION 1

Click the Exhibit button. 
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Traffic is flowing through the interfaces in the exhibit as follows: 

On ge-0/0/2.0, IPv4 traffic has a throughput rate of 4 Mbps, and the burst size counter is at 200 KB. 

On ge-0/0/2.0, IPv6 traffic has a throughput rate of 7 Mbps, and the burst size counter is at 550 KB. 

On ge-0/0/3.0, IPv4 traffic has a throughput rate of 5 Mbps, and the burst size counter is at 250 KB. 

On ge-0/0/3.1, IPv6 traffic has a throughput rate of 12 Mbps, and the burst size counter is at 450 KB. 

Which statement describes what is happening? 

A. IPv6 traffic on ge-0/0.3.1 is being dropped; all other traffic is unaffected. 

B. IPv4 traffic on ge-0/0/2.0 is unaffected; IPv6 traffic on ge-0/0/2.0 is being dropped; IPv4 traffic on ge0/0/3.0 is
unaffected; IPv6 traffic on ge-0/0/3.1 is being dropped. 

C. IPv4 traffic on ge-0/0/2.0 is being dropped; IPv6 traffic on ge-0/0/2.0 is being dropped; IPv4 traffic on ge-0/0/3.0 is
unaffected; IPv6 traffic on ge-0/0/3.1 is unaffected. 

D. All IPv4 and IPv6 traffic on ge-0/0/2 and ge-0/0/3 is being dropped. 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 

Area 1 has three network links. You need to summarize the network addresses in Area 1 so that Area 0 sees one route
representing the network links. A route to each loopback address must still be visible in Area 0.Which configuration
sample on R3 and R5 will complete this task? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

QUESTION 3

Click the Exhibit button. 

You are configuring a new PE router in your Layer 3 VPN. A remote PE router is using the configuration shown in the
exhibit. Which configuration is needed to receive customer-vpn routes from the remote PE? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

QUESTION 4

A network uses IPv4 and IPv6 addressing. You must use only OSPFv3 as your IGP. Which configuration will advertise
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both IPv4 and IPv6 addresses to the network? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 

 

QUESTION 5

Click the Exhibit button. 

What would happen if the guaranteed-rate command is removed from the configuration shown in the exhibit? 

A. The logical interface gets a minimal bandwidth reservation. 

B. The minimum-rate command should be configured instead. 

C. The logical interface receives no bandwidth constraints. 

D. The transmit-rate command should be configured instead. 

Correct Answer: A 
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